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ERAER 1,316, 722
AG&EE 1,223,700
EEANGE 1,223,700
R x5 1 136, 080
LITEE =] 1 50, 850
FREITEE =] 3 137, 250
BMRGMARITEE =] 1 50, 850
H k& E 3 1 138, 600 |+0
YNEIEO) T3 m 2000 10,010 |+0
THDEREFRDOAE m 2000 12,870 |+0
HEFEHEZRE (B9 m 2000 12,870 |+0
PEEEREEHGRER m 2000 7,150
RAHER m 2000 46, 400 |+0
TR R T REREER m 2000 17,160 |+0
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HEEERDORE m 2000 32,608 | +0
BHRAE (B m 2000 57,064 |+0
BRAE (BYWH) m 200 2,443
AIEFIRMRE m 2000 30,236 | +0
EEAE () m 2000 52,184 |+0
AR (FEE) m 2000 36, 556
FAtth 3 T [X] m 2000 17,580
T HhEREVERL m 1000 6,435 | +0
iR ERXET m 2000 9,272 | +0
i ER E AT R AR m 2000 16, 112 | B FxHk
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